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O The National

Orthodox School
Shmaisani

Subject: Mathematics

Second Exam / Remedial Plan

Grade-Section: 8 CS

Teacher: Zain Hattar

Objective: Revise irrational numbers, estimating square roots and cube roots, index
laws, multiplying and dividing a number by a power of 10, standard form, lower and
upper bounds.

Question 1
e Estimate the following square root to 1 d.p. Show all the steps of
your working. 1?’:\ e
V49 V62 N 64
7 ;
62— 49 = |3
64 — 49 =I5
’/% ~ 0.9 — #+09 = 79
J6a 2 79

e Estimate the following cube root to 1 d.p. Show all the steps of
your working. %\_\
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uestion

Sort the following numbers into one of these three groups.

Put a tick (\/ ) in the correct box.
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Question 3

Simplify using index laws. Show all the steps of your working and leave
your answer 1n positive index form.

20 +5 %)

=

a)32°><35= 3

4 _ -3 4 43 7
C) 74_:_7-3= :7 o 7 = 7
34 -3 U
d)oiajo s 1" 48 _ 19 = |
e
e) ( = |
Page 3 of 5

Scanned with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

L% 2 16
BRI = (3 _
(310 e 32) = %

N \(p
X |

Question 4

Fill in the boxes:

a) x 10° = 54

b) 4478 —:—=o.4478
5 M < 10 =84

) 00sax | 10" |-s40

e) 100x 107 + 0.6+107° = 0+ 60 =10
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tandard form
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a) 2300 =

I

17

b) 0.0041 =

c) 789 000 =

d) 0.005 =

uestion
Write an inequality to show the upper and lower bounds for a number, n,

where n is

0 005
005 = | 3¢ ?55

2

I3.45 + O

0.0/

a) 13.45 rounded correct to the nearest 2 d.p.
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